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I Alternate version of the dispute between 5™/ re: extent of dispute v”1/n"a regarding making change with v”yn myn
a 1 of them: dispute is only gold <->silver
i wm:v. 1stipulates qoan, implying the 1%t money used for %% must be brought (may not be transferred)
ii "1 v.1expands to include even 1w qo3
1 All agree: silver may be exchanged for m+a —it’s still pwry qoa
iii ~ Challenge: why not express np¥9nn as silver <->silver, which is more surprising?
1 Answer: if that were presented, X"10 that n"a agrees with w”a about silver >gold (as gold is X to silver)
b Other: dispute extends to fruit, and v”1’s reason is that gold is X1
¢ Challenge: dispute re: changing w"yn myn in 5wy
i v may change entire 50 (of silver) into copper coins
ii 772 may only change 2 of the v into copper
1 Explanation: how could w”a rule pnwry qo3 about changing to (the more valuable) gold and not copper?
2 Block (¥27): cannot challenge from expenditures/changing in 09w, where v. 1 applies (use for food as well)
d  Challenge: dispute n”a/v"a re: changing v"yn myn outside of 9wy (n:1 W"yn)
i »7x may change entire 50 (of silver) into copper coins
ii /772 may only change 2 of the v into copper
e agreement: all agree that 9uan extends to 2w qo2 (earlier analysis rejected)
I rather: dispute 5"1/7™:
a 1 of them: dispute is only gold <->silver,
i v’x NN against waiting to redeem silver coins until the next year, when the sum reaches the value of a gold coin;
ii /772 no need for precaution; he’ll come to 9w with silver coins in any case
1 All agree: silver may be exchanged for mv9, since the fruit will rot and he won’t wait
b Other: dispute extends even to silver <->fruit (he may withhold them and not bring them up in time)
¢ Analysis: language nwy’ Ro/nwy (in 1:1 W"Yn) implies a rabbinic stricture, not an inherent invalidity n”nn
i Therefore: approach that v"1’s opposition to buying gold coins with w”yn »»%0 is a decree (as above) is supported,
ii ~ But: approach that it's inherently invalid since gold is & relative to silver is difficult
1 Should read: ant »M1T %Y PYINNN VYN YYD PR (see V)
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